BOLLETTINO UNIONE MATEMATICA ITALIANA

S. K. CHATTERJEA

On a paper of Banerjee.

Bollettino dell'Unione Matematica Italiana, Serie 3, Vol. 19 (1964), n.2, p. 140–145.

Zanichelli

 $<\!\!\mathtt{http://www.bdim.eu/item?id=BUMI_1964_3_19_2_140_0}\!\!>$

L'utilizzo e la stampa di questo documento digitale è consentito liberamente per motivi di ricerca e studio. Non è consentito l'utilizzo dello stesso per motivi commerciali. Tutte le copie di questo documento devono riportare questo avvertimento.

On a paper of Banerjee.

By S. K. CHATTERJEA (a Calcutta) (*)

Summary. - Recently D. P. Banerjee has proved Turán's inequality for the Bessel polynomials $y_n(x)$. Here it is pointed out that Banerjee's inequality is incorrect and that in course of demonstration he fails to notice that for $n=2m, y_n(x)$ has no real zeros. Secondly Turán's inequality for the Bessel functions is known for a long time. Lastly Banerjee's series

$$\sum_{n=0}^{p} (2n + 1)y_n^2(x)$$

was already considered by C. K. Chatterjee and W. A. Al-Salam. Further we have proved some properties of the Bessel polynomials, of which the following two are characteristic:

(i)
$$\sum_{r=0}^{n} (-1)^{n-r}(2r+1)y^{2}r(x) = y'_{n+1}(x)y_{n}(x) - y'_{n}(x)y_{n+1}(x)$$
,

(ii)
$$y_n(x)y_{n+2}(x) - y^n_{n+1}(x) = x + 2x^n \sum_{r=0}^{n} \Lambda_r,$$

where

$$\Lambda_{\mathbf{r}} \equiv y'_{\mathbf{r}+1}(x)y_{\mathbf{r}}(x) \, - \, y'_{\mathbf{r}}(x)y_{\mathbf{r}+1}(x) \, , \quad y'_{\mathbf{r}}(x) \equiv \frac{d}{dx} \; y_{\mathbf{r}}(x) \, . \label{eq:lambda_r}$$

(*) Pervenuta allla Segreteria dell' U.M. I. l'8 febbraio 1964.

In a recent paper [1], D. P. BANERJEE has proved the theorem that for all real x > 0 and n > 0, the following Turan's inequality holds:

(1)
$$y^{2}_{n}(x) - y_{n+1}(x)y_{n-1}(x) \geq 0,$$

where $y_{\cdot i}(x)$ is Krall-Frink's Bessel polynomials defined by

(2)
$$y_n(x) = \sum_{r=0}^{n} \frac{(n+r)!}{r! (n-r)!} (x/2)^r.$$

Here we like to remark that this theorem is incorrect. For, when n = 1, we have

$$y_1^2(x) - y_2(x)y_0(x) = -x(1+2x)$$
.

Again when n=2, we notice

$$y_2^{2}(x) - y_3(x)y_1(x) = -x(1+6x+12x^2+6x^3)$$
.

Indeed, we have proved in a recent note [2] that

(3)
$$y_n(x) y_{n+2}(x) - y_{n+1}^{*}(x) = x + 2x^2 \sum_{i=0}^{\lceil n/2 \rceil} (2n+1-4i)y_{n-2i}^{*}(x)$$
,

by means of the formula

(4)
$$\Delta_n = \Delta_{n-2} + 2(2n+1)x^2y^2_n(x),$$

where

$$\Delta_n \equiv y_n(x)y_{n+2}(x) - y_{n+1}^2(x)$$
.

When written in Burchnall's notation for Krall-Frink's Bessel polynomials, (3) assumes the form [3]:

(5)
$$\theta_{n}(x)\theta_{n+2}(x) = \theta^{2}_{n+1}(x)$$

$$= x^{2n+1} + 2\sum_{\substack{j=0\\ j=0}}^{\lfloor n/2\rfloor} (2n+1-4j)x^{4j}\theta^{2}_{n-2j}(x) ,$$

where

$$\theta_n(x) = x^n y_n(1/x) .$$

Here it is worth mentioning that TURAN'S inequality for the BESSEL polynomials is not new, for CARLITZ [4] had already proved that

(6)
$$\theta_{n-1}(x)\theta_{n+1}(x) - \theta^{2}_{n}(x) \geq 0$$
, $(x \geq 0)$,

in a different manner. We have proved (5) with the help of the relation

(7)
$$\Delta(n, 1, 1; x) = x^{4}\Delta(n-2, 1, 1; x) + 2(2n+1)\theta_{n}^{2}(x),$$

where

$$\Delta(n, 1, 1; x) \equiv \theta_n(x)\theta_{n+2}(x) - \theta_{n+1}^2(x)$$
.

We also add that in the proof of (1), BANERJEE fails to notice that for even n, $y_n(x)$ has no real zeros.

Secondly, Banerjee has proved in Theorem 2, that Turan's inequality holds good for the Bessel functions $J_n(x)$ also. But Lommel's series [5] of squares of Bessel functions viz.,

(8)
$$\frac{x^2}{4} \left\{ J_n^2(x) - J_{n-1}(x) J_{n+1}(x) \right\} = \sum_{k=0}^{\infty} (n+1+2k) J_{n+1+2k}^2(x),$$

is known to us. Szasz [6] had established the inequality

$$(9) J_n^{2}(x) - J_{n-1}(x)J_{n+1}(x) > \frac{1}{n+1}J_n^{2}(x), (n > 0, -\infty < x < +\infty).$$

We have proved in a previous note [7] that

(10)
$$\Delta_{n,1,2;x}(J) < 0, \quad -\infty < x < 0$$

$$= 0, \quad x = 0$$

$$> 0, \quad 0 < x < \infty$$

where

$$\Delta_{n,\,1,\,2\,;\,x}(J) \equiv J_{n+\,1}(x)J_{n+\,2}(x) - J_n(x)J_{n+\,3}(x) \; .$$

We shall now discuss some properties of the BESSEL polynomials. We notice

$$\begin{split} y_{n+1}(x)y_n(z) &- y_n(x)y_{n+1}(z) \\ &= \left[(2n+1)xy_n(x) + y_{n-1}(x) \right] y_n(z) - y_n(x) \left[(2n+1)zy_n(z) + y_{n-1}(z) \right] \\ &= (2n+1)(x-z)y_n(x)y_n(z) - \left[y_n(x)y_{n-1}(z) - y_{n-1}(x)y_n(z) \right]. \end{split}$$

Now we write

(11)
$$\sigma_n(x, z) + \sigma_{n-1}(x, z) = (2n+1)(x-z)y_n(x)y_n(z)$$

where

$$\sigma_n(x, z) \equiv y_{n+1}(x)y_n(z) - y_n(x)y_{n+1}(z)$$
.

Similarly we have

(12)
$$\sigma_{n-1}(x, z) + \sigma_{n-2}(x, z) = (2n-1)(x-z)y_{n-1}(x)y_{n-1}(z).$$

It therefore follows from (11) and (12) that

(13)
$$\frac{\sigma_n(x,z) - \sigma_{n-2}(x,z)}{x-z} = (2n+1)y_n(x)y_n(z) - (2n-1)y_{n-1}(x)y_{n-1}(z).$$

Putting n = 2m and by repeated application we obtain from (13):

$$\frac{\sigma_{2m}(x,z)}{x-z} = \sum_{i=0}^{m} (4i+1)y_{1i}(x)y_{2i}(z) - \sum_{i=1}^{m} (4i-1)y_{2i-1}(x)y_{2i-1}(z)$$

(14)
$$= \sum_{r=0}^{2m} (-1)^{2m-r} (2r+1) y_r(x) y_r(z).$$

Again using n = 2m + 1 and by repeated application we derive from (13)

$$\frac{\sigma_{2m+1}(x,z)}{x-z} = \sum_{i=1}^{m+1} (4i-1)y_{2i-1}(x)y_{2i-1}(z) - \sum_{i=0}^{m} (4i+1)y_{2i}(x)y_{2i}(z)
= \sum_{r=0}^{2m+1} (-1)^{2m+1-r} (2r+1)y_r(x)y_r(z).$$

Thus we note that (14) and (15) can be comprised into a single formula

(16)
$$\frac{\sigma_n(x,z)}{x-z} = \sum_{r=0}^{n} (-1)^{n-r} (2r+1) y_r(x) y_r(z).$$

Now let $z \rightarrow x$, then (16) yields us

$$(17) y'_{n+1}(x)y_n(x) - y'_n(x)y_{n+1}(x) = \sum_{r=0}^{n} (-1)^{n-r}(2r+1)y_r^{2}(x).$$

In this connection we mention that BANERJEE [1, p. 85] proved that

(18)
$$\sum_{n=0}^{p} (2n+1)y_n^2(x) = \frac{1}{x} |y_{p+1}(x)y_p(x) - y_0(x)y_{-1}(x)|.$$

Here it is worth mentioning that (18) was already proved by C. K. Chatterjee [8] and by W. A. Al-Salam [9]. It should be remembered that one can extend the following definition

$$x^2 \frac{d^2 y}{dx^2} + 2(x+1) \frac{dy}{dx} = n(n+1)y$$

of the Bessel polynomial $y_n(x)$ to negative subscripts by defining $y_{-n}(x)$ to be $y_{n-1}(x)$. Thus if we put $y_{-1}(x) = y_0(x)$ in (18) we actually obtain Chatterjee's or Al-Salam's result.

Next returning to (14) we derive

(19)
$$2x^{2}[y'_{2m+1}(x)y_{2m}(x) - y'_{2m}(x)y_{2m+1}(x)] = 2x^{2}\sum_{i=0}^{m} (4i+1)y^{2}_{2i}(x) - 2x^{2}\sum_{i=1}^{m} (4i-1)y^{2}_{2i-1}(x)$$

Again we obtain from (3)

(20)
$$\Delta_{2m} = x + 2x^2 \sum_{i=0}^{m} (4i+1)y_{2i}^*(x)$$

and

(21)
$$\Delta_{2m-1} = x + 2x^2 \sum_{i=1}^{m} (4i-1)y^2_{2i-1}(x)$$

where

$$\Delta_n = y_n(x)y_{n+2}(x) - y_{n+1}^2(x).$$

It therefore follows from (19), (20) and (21) that

$$\Delta_{2m} - \Delta_{2m-1} = 2x^2 \Lambda_{2m}$$

where

$$\Lambda_{2m} \equiv y'_{2m+1}(x)y_{2m}(x) - y'_{2m}(x)y_{2m+1}(x).$$

From (14) we similarly derive

$$\begin{aligned} &2x^{2}[y'_{2m+2}(x)y_{2m+1}(x)-y'_{2m+1}(x)y_{2m+2}(x)]\\ &=2x^{2}\sum_{i=1}^{m+1}(4i-1)y^{2}_{2i-1}(x)-\sum_{i=0}^{m}(4i+1)y^{2}_{2i}(x).\end{aligned}$$

Thus we obtain

$$\Delta_{2m+1} - \Delta_{2m} = 2x^2 \Lambda_{2m+1}.$$

Now from (22) and (23) we derive a single formula

$$\Delta_n - \Delta_{n-1} = 2x^2 \Lambda_n.$$

Lastly by repeated application of (24) we get

(25)
$$\Delta_n = x + 2x^* \sum_{r=0}^n \Lambda_r,$$

where

$$\Delta_a = y_n(x)y_{n+2}(x) - y_{n+1}^2(x)$$

and

$$\Lambda_{x} = y'_{x+1}(x)y_{x}(x) - y'_{x}(x)y_{x+1}(x).$$

REFERENCES

- [1] D. P. Banerjee, On Bessel polynomials, Proc. Nat. Acad. Sci. India Sec. A, Vol. 29, Part I, 1960, pp. 83-26.
- [2] S. K. CHATTERJEA, An integral involving Turan's expression for the Bessel polynomials, to appear in Amer. Math. Monthly.
- [3] S. K. CHATTERJEA, On Turan's expression for the Bessel polynomials, to appear in Science & Culture (Indian Science News Association).
- [4] L. CARLITZ, A note on the Bessel polynomials, Duke Math. Jour., Vol. 24, 1957, pp. 151-162.
- [5] G. N. WATSON, Theory of Bessel functions, Cambridge, 1952, p 152.
- [6] O. Szasz, Inequalities concerning Ultraspherical polynomials and Bessel functions, Proc. Amer. Math. Soc, Vol. 1, 1950, pp. 256-267.
- [7] S. K. CHATTERJEA, A note on Bessel function of the first kind, Riv Mat. Univ. Parma, Vol. 2, 1961, pp. 281-286.
- [8] C. K. CHATTERJEE, On Bessel polynomials, (I), Bull. Cal. Math. Soc., Vol. 49, 1957, pp. 67-70.
- [9] W. A. AL-SALAM, The Bessel polynomials, Duke Math. Jour, Vol. 24, 1957, pp. 529-546.